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lll Semester B.Com. Exa Kiniition, February/March 2024

(NEP) (F+R)
COMMERCE

3.1 : Corporate Accounting

Time : 2/z Hours Max. Marks : 60

lnstruction : Answers should be either in Kannada or in English.

SECTION _ A

1. Answer any six sub-questions. Each sub-question carries 2 marks. (6x2--12)

a) State any two features of brand.

b) Who is an underwriter ?

c) What do you mean by normal rate of return ?

d) What is tax deducted at source ?

e) State any four reasons for valuation of shares .

0 Pass the journal entry for issue of equity shares at premium.

g) State any 4 factors determining the value of Goodwill.

h) Give the meaning of marked and unmarked applications.

" SECTIoN - B

Answer any three questions. Each question carries 4 marks.

2. Following are the particulars of Akash Ltd.

Fixed assets - { 8,00,000, current assets - T 5,00,000

Bank overdraft - { Bdi000, Goodwill - T 2,OO,OOO

Other current liabilities - t 1,20,000.

1 ,00,000 Eq. shares of { 10 each { 10,00,000

(3x4=12)

6% debentures { 4,00,000.

The market value of fixed assets is 12% more than the book value and that
of current assets is 5% less than book value. There is an unrecorded liability
of t 15,000.

Ascertain the value of Eq. shares by net asset method.

I
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3. Ganesh Co Ltd. issued 50,000 shares of t 10 each. The whote issue was fully .

under written by A B C and D as follows
A - 20,000 shares, B - 15,000 shares, c - 5,000 shares and D - 10,ooo shares.
The company received applications for 45,000 shares of which marked
applicationswere as follows A-22,000 shares, B- 11,000 shares, C- 1,OOO

shares and D - 9,000 shares,

Determine the liability of each undenryriter.

4. Nagaraj Ltd. agreed to purchase the business of Manjunath for this purpose,
Goodwill is to be valued at three years purchase of the average profits of last
4 years adjusted profits.

The profits for the year ending 31-3-201 8 to 2021were { 25,ooo, { 32,000,
T 30,000 and T 26,000 respectively.

The following additional information is available

a) On 1-9-2020, a major repair expenditure on plant and machinery of
t 10,000 was charged to revenue account. Now it is to be capitalised subject

. to 10/" p.a. depreciation on diminishing balance method for valuation of
Goodwill.

b) The closing stock the year ended 31-3-2019 was overvalued by t 5,OOO.

c) ln order to cover cost of management an annual charge of t 6,000 is made
for Goodwill purpose. Calculate the value of Goodwill.

5. How do you show the following items while prepare company final accounts ?
a) Goods destroyed by fire

b) Calls in arrears 
8t

c) Discount on issue of shares

d) lnterim dividend. ;

6. Ashok Iimited issued 20,000 equity shares of t 10 each pay as follows :

t 2 on application, T 4 on allotment

{ 3 on first call and balance in final call.

All the shares were duly subscribed for the amount were duly received.

Give journal entries in the books of the company only for first call and finql
calls due and received.

-2-
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SECTION - C

Answer any three questions. Each question carries 12 marks.
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(3x12=36)

7. ABC Co Ltd. issue 1,00,000 equity shares of t 100 each MNO and P underwrites

the entire issue in the proportion of 30%, 30/",20% and 20/" respectively. They

also apply for firm share applications as follows. M - 3,000 shares, N - 2,000

shares, O - 2,000 shares and P - 3,000 shares. Asides the firm application,

the public apply for 60,000 shares of which marked applications are as follows :

M - 10,000 shares, N - 6,000 shares, O - 8,000 shares and P - 16,000 shares.

Calculate the net liability and total liability of each underwriter treating :

a) Firm undenrvriting as marked applications

ii) Firm underwriting as unmarked applications.

8. Following are the Balance Sheet of Dasappa Ltd. as on 31-3-2022. You are

required to prepare final accounts of the company as per Amended Act 2013

and after taking additional information into consideration :

Debits

Premises

Plant

Stock on 1-4-2A21

Debtors

Goodwill

Bank balance

Calls in arrears
*.;

lnterim dividend

Purchases

Preliminary expenses

Wages

General expenses

Salaries

Bad debts

Debenture interest paid

t Credits

1,24,67,5O0

30,72,000 Share Capital 40,00,000

33,00,000 12"/" Debentures 30,00,000

7,50,000 P&LA/C 2,62,500

8,70,000 Creditors 7,70,000

2,50,000 Sales 41,50,000

4,06,500 General Reserve 2,5O,OOO

75,000 RDD as on 01-04-2021 35,000

3,92,500

18,50,000

50,000

9,79,800,

68,350

2,02,250

21,100

1,90,000

1,24167 r5OO
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Additional lnformation : .

a) Closing stock 31-3-2022 is valued at t 10,50,000.
b) Depreciate plant aI15"/".
c) Write off t 5,000 from preliminary expenses.
d) Half year debenture interest is due.
e) Transfer t 25,000 to general reserve.

0 Ignore Corporate Dividend Tax (CDT).

9. Following is the Balance Sheet of Sharma Ltd. for the year ended 31-3-2023.

Liabilities
Share Capital
20,000 shares of t 10
P&LA/C
6% Debentures
Creditors

T

2,00,000
2,00,000
1,00,000
1,00,000
6,00,000

5,00,000
5,20,000

29,60,000

Assets t
Buildings 2,00,000
Machinery 1,00,000
Debtors 1,00,000
Stock 80,000

' Cash 1,20,000
6,00,000

Normal rate of return on average capital employed is 10%. Find out the value of
Goodwill on the basis of 2 years purchase of super profits. Building is revalued

. at { 3,50,000 and machinery at t 90,000.

10. On 31-3-2021 the Balance Sheet of SABS Co. Ltd. shows the following position.
Liabilities T Assets t
Share Capital (of t 10 each) 16,00,000 Fixed assets 20,00,000
Reserves 2,60,000 Current assets 8,O0,OOO 

.

P & L A/c 80,000 Goodwill 1,60,000
5% Debentures
Current liabilities

29,60,000
On 31 -3-2021 fixedqssets were revalued at T 18,00,000. The profit for the three
years were 2A21 - { 2,40,000,2020 -< 2,20,000,2019 - { 2,10,000.
Of the above 20% was placed to the reserve account. The fair return on capital
employed is at 10%.

Calculate the value of equity shares of a company under a) Net asset method
b) Yield method.

1 1. Srinivasa Trading Company Ltd. with a registered capital of t 10,00,000. lssued
1,00,000 equity shares of t 10 each. Payable { 3 on application, { 2.50 on
allotment, { 2.50 on first call and balance in final call. All the shares were fully
subscribed and the money duly received except first catt'on 5,000 sharbs and
final call on 18,000 shares. Give the journal entries to record the above.

-l
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(6x2=12)

(3x4=12)

d{d eldr.!

A?tDd - a

1. odDdde 6 wd-{,doderi erudoxr. -'9e erud-$dod 2 erodrlgd:dd.

a) 'zrgrocf'd o$ad)de add; {A*dd$d}.9e&.
b) sDoea qldddoadd: aodd olD& ?

c) xapadea sro"o$ dd aodded: z

d) dmetdO_dori EadztroelenAd aodde$ t
e) ded:rl$ dPe.:rdnddd o5Ew6 rodearlsd:n Sea.

f) t,etuo$odo_dedr19 add#rnA xdref d*roddl udou:o.

g) SeBr dfoe,rrd ?,ie3o$d1&dadA$d odn{oaddro 4 erodrlgdl dioxr.

h) tud:eBend d:d: i$dJgid u{dedo6rl$ ufirdd1&ea.

A?prl - ?l

oln$aaddra dtJo$ €,d4rl9i1 erodot. gg 6d*rlro 4 etodrlp$dd.

2. saad Otu[^3crd dDbgrl$J dr d$dodo8d.
nd e*ait$: - T 8,00,000, Eegr dfde,:, - t 2,00,000
a3d eg$d$t - < 5,00,000, aD.od: a:eddd - { 80,000
t 1Od - 1,00,000 xadnd, de$rlqb - t 10,00,000

6% xae.:dgd$J { 4,00,000.
.add ?soo esa??rJoorl$lJ t 1,20,000

Rrd erld$ ilEdrdqdPordt erdrl$ oa$en8 d$e,:rEoodqo de. 12dd*?rol qd:o,
Cd er:rrl$ dnd:dodnPet"d erdtrlg eiaaDero8 dPe.rr{od de. sdai:*Ea* ecbQd. eJEo

dt{Edo-udo$d .a&d z;da?,rJoo { 15,000, xad>d, dedrilg dPe.rrdd1dr,tr erduf
abdddO_dod:bEo$:o.

3. rl#ed Otua,36r dod& { 10d 50,000 ded:zf$$o uSdrrld ilaad. .ad$o* dsdodod
A, B, C ilQ DCooOri €Bear aDoeO qJddd dndenAd.
A - 20,000 ded:il$J, B - 15,000 ded:rl$: , C - 5,000 ded;rl$:, D - 1O,O0O

de d:rlsb. d od& Cl 45, 000 decbrls ud r o$d1 ddd:do oa&d d. .addO_ rbd:gn?%
erdrri$; 6i ESEodoBd. A - 22,000 decbrlgc, B - 11,000 ded>rlgc, C - 1,000
de&rl9c drQ D - 9,000 ded:rlqb.

{, E o3o u,, aD o e O r! ddd na d d aiaa zoaoo c:de d o d: b c os: o .
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4. anrlo,f e;ru56,6 dJo&Jsqi" ffi.,md +sdi-J i-::5J trG= :l-:-i:.:. x,dd'
eorlDh 3e3r dso,55J^ bood 4 cdrrlg r;15 sqJd 3 ==r= i-::i:$?1

d:ed dPe.r,dnid d>de;dJdd. d$d 4 dirrg laiO elq:acd 31-3-20183:C
e3

31-3-2021d ddri { 25,000, { 32,000, t 30,000 rJgr < 26,000. -se.Io =;-E
J^ J-JJ^J^ qJ

a) 01-09-2020d0d> zpo dzid $a3r;3; *3s, =-5 m;idrl$ d:ee, { 10,000r+-r_

dDaio. a,;ri',n xeoienha. ?oe71 ?-:G='-i:=J:: 5JJa gedd 10d* {569 5&geri
': ^! "' ' "-'- ooee, 6e3raie"il-; ;;r- =;63Drc96.

b) 31-03-2019d eo8d.: m&& zieJ t 5,000i- ;q.nd.
c) sd9d d:od9o$ ma,rrd $a$r T 6,000 ;3;J SeBr dPo"d e:e"dd d:ed

d'
.r 

-tur 
{s*a-f,f 9eo_- -){a. 

)-\ -^ -\: - ^o\F\\7ULJc,(rJ cJJd0gfJdl lLJ. Ofi2I i^.)J"Uj,r,Ja*>- : - -J-*J-vJU.

5. dr d$nddd$d.l doi&c: ero8d: d{Cgil:--.:_. 3rJrrOirilorl oJDd Oegc$e

iorl$ielrbdd: ?

a) e.rA obod di:d$: oadaarb,)d
'd.r

b) dddd zros

c) aed:r1sd.: tlaea alna "Jgoic{d,ct

d) d:d odd erqJ., ,2)

6. edoed etu666dd& 20,000 d3sji _.*€iliisir den t 10 dod,)dd# c>Gmd.olnO
md8izJead dla.2d: eCro$ Crod, d-t.4Q. dcz3doJ: drEd d* 3d: Code-rde.t

dd uilad ild; il:d dradd: tio;o;: do3;J r.i;J9-daiOoc.o.
.r eq de dr rl$: zS o ero oa d oo h oalC dJdJ C't g ; i,r I o cl,o n tuJ E o, eD n d . d: e O dd ds

--io,ci
cs.a:{z{:.?-rr c:)9-g -Pa*c.J {r?r f aJst- tJe-t rJ-c+ J{ra>{ri:.?{r - re\JV<,/l lt'C'.IJ \JW\./d IIJc,L.J!/G) C^Ir\:\, OJcraJ!.^,\, O\rl l:/ wl.la v 3JC^J.rJC,U',Irl l't'O.}.-/ C'JtU9..t'io.

Dq>il -,t,

o$docddra *Ja$ {,5.r19i1 ru30&. E,g i,5,.3;:J 12 eodrl$d: a.looOd:gi. (3x12=36)

7. azrtu dod& Otuaicr { 1 00d 1 ,00,000 xadnd, ded:rl$d1ado:idr. e{rrlgdl MNO

ild? P aou $DeO qJdddo?ddJ 30%, 30/",20% drd? 20% {,dneado_$d:aan
aDoeO ?Pddi &ead:qd. erdd: iodo$ ded: edro$$4* d$dodod &ead:aod.

M - 3,000 ded:rl$c, N - 2,000 ded:rl$:
O - 2,OOO ded:rl$: P - 3,000 ded:rl$c
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dodob ded:rrsd,1 droddrdaxr xadraed& oo,ooo ded:zrgdq $o€o,eJddr.
e{i190_rbdrdr droad ded:rl$ erdrrlst dr d$dodo8d.
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* 
{>ee.rpd-rddil9od {,8e aDoeo qJdddmdd 0*g drdl s"t^Dsj?sa"zDooo$d}

dr d$dodod dod:bBobo.
i) ear{dddd doedd:d1rb&dr drEad edroS:odl doitrd,$.
ii) &ord ?iddd doeEd:dl rbcb$ dDdd erdrobod) doitrd$.

8. eoadd dod& eo$drd c@d d$ aoaod 31-3-2022d0d: dr d$dodoed, dsri
CeGd:d dqjS dDb.Arf$dl rlsodri drld:dood: dod&o$ ero8d> eJd.it$de xrddaxr.

M - 10,000 ded;rl9c,
O - 8,000 dedorl$:

alr J rJ.;.
e^.Ait 'iI l\/.,

i *-il op{>lmi!. .l^l ei 9 V UJ U C^J L, t c,
a

aid;
ma.t: 01-04-2021

J

^l\^X+6.1.+ it rI lv\,

-L o 9 -l'P)arO\tra l^,'-/'\r^

-'....- 
^ 

cJ-q )-) JJ--
aJcr.UOcJtJLUcJ N/\C).J

.\6

Edrl$ zroE dra
:irzl n=?zi asosatiq&f\-/gJ^r vqr\_i \)9 Qlav<)

a)0eOrlS,:

-. 
-J^^o./ J^f -J-J-c"Jo, Uv(pO cJi:O / )?JJ | .J

iao\
9J c,l t-/

-l-=1 
J^r*J^.a-

^Jq/r^Irdo)^ c"JCO I )V\,
-J^JJr^J-cJ(9c0f )\lJ

ililaortJd iae-rd#: i,

--.-lJ 
r..l +-^^qJ ^ r^ 

-Jqo 

J-
^JeWc^J(?]l lV c"IJf CrN 6.JCA creJcJ9/dJ(J,/

N - 6,000 ded.>rl$o

P - 16,000 ded:rl$;

t
30,72,000

33,00,000

7,50,000

8,70,000

2,50,000

4,06,500

75,000

3,92,500
18,50,000

50,000

9,79,900

69,350
2,02,250

21,100
1,80,000

1,24,67 1500

fie6d$c

dedc uodanS 40,00,000
12o/o r,JedgdqJ 30,00,000
eDqJ d:Q d{aad 2,62,500

dsdrf$J 7,70,000
d>ooe,lrl$c 41,50,000
FadJadd &Q &:eBer: 2,50,000
erd)droo?id xne;i1$

abeOd &reBer:

01-04-2021 35,000

1,24,67,500

dqd dnb8zl$.l :

a) Ooaod 31-3-2122docb ero8d: a.rxD&d die.r, T 1O,5O,OOO.

b) xoddrl$ ai:eOd idde de. 15%.
c) { 5,000r19d} agdorpd dajfleod dridr 6"8d)d
d) soe.td$rlS d>e0d ua* cdr ddrdo .adro{ mdgBadrd&.
e) { 25,000 xDdrodd &Qri dnard# dDad)d&.
0 CDT ed1Oe.trflx.
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9. ooaod 31-3-2023 dd:r iodo$ e@d dg dr d$dodo8d.

eDqJ d>Q d{d amd

6% me,tdgrl$)

dsdrf$r

ded: uodaa$ ( t
a)eiq)
e>DqJ d>Q d{and
5% xae.rdgiisb

z3d xarounoiiq)
O

1Odod) 16,00,000 :6d er&rf$r

2,60,000 zSd eJ&rl$J

80,000 EeEr dle.r,

5,00,000

5,20,000
, 29,60,000

ililflilil][llllilil|lillll]

t
2,00,000

1,00,000

1,00,000

80,000

1,20,000

6,00,000

20,00,000

8,00,000

1,60,000

29,60,000

c3E"sDodgJ to
decb alodaas

20,000 ded.:rl$.: t 10dod 2,00,000

2,00,000

1,00,000

1,00,000

6,00,000

ered$c

(J f^J UJ

^?.a,{:?a{re-l'..IJt s{ IWJ

:-{r
LJe^.1e, O.\,

J

cJI TC.U

Bcnio uodan$d xo6adea err?td dd de. 10. dt;dd d:dJ dPe.r, { 3,50,000 aarlo
Crog < 9O,OOO. drodd engJ (super profit) Z Lara $oeo uqndd d;eeJ SeBr

diuorddl dod:&Gou:o.

10. oanoE 31-3-2021 xaru do{oJ, er@.rd dg * Egdodo8d.

t3tr"s,Dorlsb { ei:)d$J t
oJ

31-3-2021d0d: x6d er&rf$ d.:cbdfoe.:, T 18,00,000. boOd 3 ddrri$ engJrl9c

2019- < 2,10,000, 2020- { 2,20,000, d:q 2021- { 2,40,000. dreOd enq1do-

de. 20 ddgaleien8ri dnardd dDdrddr. anro3oe*d uodaasd sapadm crod

de. 10. dodCIo$ o*d, de&r19 dPe.:rdd:o d$dod &qrdd0-dod:bGolto.

a) e{$ erl De"d b) wdj dPe,r, De"d.

1 1 . p, e&aaB $ eaon' dod& Otu[,3c{dddJ dJo. 1 O,OO,OOO doeoeroog:d uodasasdooOri.

1 ,00,000 €is*ei ded:rt$dtr $drdd dDad. {,e deori do. 10. erdrC: d:ed
dJa. 3 md8$a3edc, dozidC)O_ do. 2.50,' dode.: ddrl dro. 2.50 a:Eu deoddl
dodoJ.: ddo$ dodCrO_ aad8da3eaahd. dode ddc: 5,000 ded:if$dtr drd)
ero8dc ddo$ '18,000 dedcrl$dco doddciG& Aero_ dedcrleJc zSoocaado"afl

dcdE deaddco doCDn &edorerDfld. dceOddd$ eodrl$dco ufol adref
dilJodril$d1Oea.
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